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A) In relevance with our textbook, I noticed after reading the section (pg. 323) in the book about female models, that the model in the ad was extremely petite.  This is not ideal example of the majority of people in our society.  Would it not be better to target the majority of people so you have a larger target audience to sell your product to?  Models are used to inspire the audience into buying the product, and usually helping to situate that person.

B) The target audience that this ad is trying to appeal to is teens and adults (some).  However I believe the age group of adults it targets does not include that of senior citizens.  Widely, it could include anyone with a sexual desire or a need to belong in that situation.  

C) The message of this ad may not be apparent.  Though after further scrutinizing you can notice that the woman’s hair is sideways.  You turn the ad sideways and you can see that the couple is now lying down and not standing up.  The way the Gucci products are placed, makes it seem that the couple is standing up.  This was done intentionally by the company in order to create a subliminal in our minds.  If I were to glance at the ad, I’d would never know that they were in a “sexual” position.  The intention of the ad is that “if you wear Gucci Envy, you will have sex”, or you will be with a young beautiful partner.

D) The methods of persuasion were obvious in this ad.  The main and only method of persuasion was the sex appeal.  The target audience was narrowed down with the use of young models, that have the desire to engage in sexual behavior as presented in the ad.

E) The motivations used in this ad were based on instincts and sexual arousal.  The human nature of the body and chemistry were present.  Also the social need to belong with someone else was another motivation.  We all have body hormones that tell us we need to find a partner in life. It is part of our human desire in life, and this ad does very well with presenting that idea.  The appeal of pleasure as presented with the young woman on top of the man.

F) I think that the ad is effective in selling the product to the target audience.  However the intention of the ad, “If I buy and wear Gucci Envy, I will have sex with a young beautiful male/female” is not effective.  Unlike coca-cola which can still be highly profitable without advertisments, still advertises and stays in our subconscious.  Gucci Envy however has to advertise in order to known it exist.
